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* 1 irreducible components of dim¢ = 0, with total 81 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.

1


http://www.layer8.co.uk/maths/draw/index.htm#Running-draw
https://github.com/CATsTAILs/LinksPainter

LI¥=(u4+u+..-+u—1)

(i) Arc colorings

w- (1)

a7 =
ag =
az =

aq =

wWHul+ut+1
ul0 4+ 208 + 3ub + 2u* 4 u?
w'® + 30l + 502 + 4010 + 30 + 208 + 20t + 1
ul® + 4u0 + 9y + 1202 + 11610 + 6ud + 2ub + u?
—utt — 20 — 20T + B
u + 30 + 4"+ 3P +ut 4 u
—ud? — 70 o 2ut 1
w32 +8u0 - dut + 202
—ud — 1205 + -+ 203
ud + 13uPt + -+ 3ud +u

—u™ = 1Tu? 4w+ 1
ai =

<
<
<
( 3
o= (s v)
<
<
<
<
<

u™ 4+ 18u™ 4 -+ - 4 Sut + 3u?

(ii) Obstruction class = —1

(iii) Cusp Shapes = —4u® —44™ + ... — 8u? — 6



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
“ Pt +39u0 4w — 1
c2,Cq uPt = w1
3 bt w0 4 — 277w + 65
€4, C10 =+l
Cs5, C12 uBt + 70 - 2761u + 101
¢ =50+ —11u+3
€8, C9, C11 w2100+ w1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
1 Ty 1Ty — 1
2, Ce 343980 . 4y —1
€ y®t —25y%0 + ... — 421431y — 4225
€4, €10 21 oy -1
C5,C12 Y8t + 51980 + ... 4+ 2274161y — 10201
7 B+ 350 4 563y — 9
g, C9, C11 I 7980+ 49y —1




(vi) Complex Volumes and Cusp Shapes

Solutions to I} vV—1(vol +/—1CS) Cusp shape
= 0.330756 + 0.9282461 —1.98935 — 0.554107 0
= 0.330756 — 0.9282461 —1.98935 4 0.554101 0
= 0.555231 4 0.8874471 4.58988 — 4.174151 0
= 0.555231 — 0.8874471 4.58988 +4.174151 0
= —0.550578 4 0.9021481 4.97491 — 1.962971 0
= —0.550578 — 0.9021481 4.97491 + 1.962971 0

0.021905 + 0.9408857

4.01374 — 3.029571

—4.00000 + 2.759661

0.021905 — 0.9408851

4.01374 + 3.029571

—4.00000 — 2.759661

0.631971 + 0.6689591

5.23666 + 8.854281

0.25550 — 7.995321

0.631971 — 0.6689591

5.23666 — 8.854281

0.25550 + 7.995321

0.483592 + 0.7774421

—2.06562 — 0.447291

—7.29217 + 1.069671

0.483592 — 0.7774421

—2.06562 + 0.447291

—7.29217 — 1.069671

—0.474582 4 0.9791701

—0.31365 — 2.381731

0

—0.474582 — 0.9791701

—0.31365 + 2.381731

0

—0.630050 + 0.6577741

5.69407 — 2.696571

1.28923 + 3.027471

—0.630050 — 0.6577741

5.69407 + 2.696571

1.28923 — 3.027471

0.580245 + 0.6908451

—1.70309 4 4.767401

—5.47059 — 8.115971

0.580245 — 0.6908451

—1.70309 — 4.767401

—5.47059 + 8.115971

= 0.446078 + 1.0610301 —3.47656 + 3.431891 0
= 0.446078 — 1.0610301 —3.47656 — 3.431891 0
= —0.519943 + 1.0347501 0.30103 — 3.37806.1 0
= —0.519943 — 1.0347501 0.30103 + 3.378061 0
= 0.285545 + 1.1308001 —5.01539 — 0.167211 0
= 0.285545 — 1.1308001 —5.01539 + 0.167211 0

—0.540133 4 0.6317091

0.70198 — 1.719741

1.35755 + 3.788091

—0.540133 — 0.6317091

0.70198 4- 1.719741

1.35755 — 3.788091

—0.771211 + 0.3097581

3.47094 + 10.850501

—1.26204 — 7.026511

—0.771211 — 0.3097581

3.47094 — 10.850501

—1.26204 + 7.026511

0.249724 + 1.1428501

—0.48830 — 1.787361

0
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0.249724 — 1.1428501

—0.48830 4 1.787361

0




Solutions to I}

V=1(vol + y=1CS)

Cusp shape

—0.683944 + 0.4703411

8.62833 — 2.038961

3.69559 + 2.223751

—0.683944 — 0.4703411

8.62833 + 2.038961

3.69559 — 2.223751

0.689016 + 0.4590961

8.57475 — 4.196891

3.50201 + 3.138681

0.689016 — 0.459096.1

8.57475 + 4.196891

3.50201 — 3.138681

0.765943 + 0.3141541

4.01700 — 4.680921

—0.19311 + 2.196871

0.765943 — 0.3141541

4.01700 + 4.680921

—0.19311 — 2.196871

= —0.250936 + 1.1495701 —1.05501 + 7.908701 0
= —0.250936 — 1.1495701 —1.05501 — 7.908701 0
= —0.275321 + 1.1482901 —7.91963 4+ 3.334841 0
= —0.275321 — 1.1482901 —7.91963 — 3.334841 0
= 0.333976 + 1.1369101 —1.43197 4 1.295171 0
= 0.333976 — 1.1369101 —1.43197 — 1.295171 0
= —0.301260 + 1.1468101 —8.21875 — 2.622951 0
= —0.301260 — 1.1468101 —8.21875 + 2.622951 0

= —0.755307 + 0.2861151

—3.56728 + 6.376851

—6.68349 — 6.548931

—0.755307 — 0.2861151

—3.56728 — 6.376851

—6.68349 + 6.548931

= —0.330768 + 1.1469501 —1.97419 — 7.223801 0
= —0.330768 — 1.1469501 —1.97419 4 7.223801 0
= —0.569017 + 1.0499701 6.92763 — 2.804481 0
= —0.569017 — 1.0499701 6.92763 + 2.804481 0
= 0.569598 + 1.0563901 6.82301 + 9.054541 0
= 0.569598 — 1.0563901 6.82301 — 9.054541 0
= 0.529876 + 1.0772301 —0.50944 + 7.022021 0
= 0.529876 — 1.0772301 —0.50944 — 7.022021 0

0.728882 + 0.2904691

—0.81550 — 3.120811

—0.65919 + 2.661041

0.728882 — 0.2904691

—0.81550 4+ 3.120811

—0.65919 — 2.661041

—0.732942 4 0.2549891

—4.07021 4 0.535471

—8.23201 + 1.098521

—0.732942 — 0.2549891

—4.07021 — 0.535471

—8.23201 — 1.098521

0.512335 + 1.1263401

—0.22713 + 6.524301

0
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Solutions to I}

V=1(vol + v=1CS)

Cusp shape

u = —0.578778 4 0.4840611

1.91397 — 1.029511

2.98287 + 4.000231

u = —0.578778 — 0.4840611

1.91397 + 1.029511

2.98287 — 4.000231

u = —0.515985 + 1.1360901 —0.720055 — 0.7300881 0
u = —0.515985 — 1.1360901 —0.720055 4 0.7300881 0
u = 0.546823 + 1.1286601 —3.24659 + 7.962981 0
u = 0.546823 — 1.1286607 —3.24659 — 7.962981 0
u = —0.537260 4 1.1368701 —6.61921 — 5.332061 0
u = —0.537260 — 1.1368701 —6.61921 + 5.332061 0

u = —0.708940 4 0.2018721

1.93893 — 3.884831

—3.08441 + 2.984681

u = —0.708940 — 0.2018721

1.93893 + 3.884831

—3.08441 — 2.984681

u = —0.551751 4 1.1372501 —6.05282 — 11.299301 0
u = —0.551751 — 1.1372501 —6.05282 + 11.299301 0
u = 0.563166 + 1.1331201 1.61264 + 9.683411 0
u= 0.563166 —1.1331201 1.61264 — 9.683411 0

u = 0.629075 4 0.3793821

1.50547 — 2.462001

0.64686 + 5.579551

u= 0.629075 — 0.379382]

1.50547 + 2.462001

0.64686 — 5.579551

u = —0.563360 4 1.1360207

1.0430 — 15.86551

0

u = —0.563360 — 1.1360201

1.0430 + 15.86551

0

u = 0.684512 4 0.1978501

2.38107 — 1.992611

—2.22631 + 2.453781

u = 0.684512 — 0.1978501

2.38107 4 1.992611

—2.22631 — 2.453781

u=0.407633

—1.06455

—9.20770




II. u-Polynomials

Crossings u-Polynomials at each crossing
c1 B 139080 4 — 1
c2, Co u = w41
€3 uBt 4B - 27Tu 4 65
€4, €10 uBt =B w1
C5, C12 ult 4 U - 4 2761 + 101
€7 utt —5u® o~ 1lu+ 3
c8,Cg,C11 uB 42100 w1




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing

C1 y81+7y80++17y_1

€2, C6 y* 4390+ 4y —1
€3 yB — 25480 ... — 421431y — 4225

C4,C10 =210 oy —1

81 80

C5,C12 Yy~ + 51y + .-+ 2274161y — 10201

¢ y* + 3y 4 =563y — 9
8, C9, C11 L4790 9y — 1




